Naplnenie Adlerackeho kapacitora

IA|1B|1C | 1D | 2A [ 2B | 2C | 2D | 2E | 3A | 3B | 3C | 3D | 3E
Zenit v programovani 100 50
Zenit v elektronike 80 50
Stolny tenis 20 10 | 30
Sudoku 9 3 22 | 13 6 20
Prezentacné karaoke
Knowledge Quiz 16 | 13 | 12 | 13 [ 11 | 13 | 16 | 15 0 11 0 0 10 | 10
Volejbal 5 30 | 10 20
Florbal 50 | 30 40 | 10
Kto vie viac? 76 | 68 | 72 |1 60| 80| 84 | 68 | 76 | 88 | 60 | 80 [ 68 | 64 | 60
Deri osobnosti 40 1100|1100 50 |100| 50 [ 50 [ 50 [ 30 [ 80 | 50 | 60 0 30
spolu: 1321190(212]145(364|187(240|141(118|171(170|218|104|150
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